N = 0l & AF & F Al A

20118 =04 LBHeI | A8 ~ AL

nx

S A4
M g2

Sl SRNAAE (Sl #)
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES O AF o8 il b o bRz
A7 26,075,015 30,638,930 £4,563,915
2 5,436,000
z 277,000
= 1,543,143
Al 18,818,872
Ngez 7,742,000 6,434,000 1,308,000
SSXAAIE 1,991,500 1,201,500 790,000
SO 500,000 300,000 200,000
401 AIZHIL 2O 500,000 300,000 200,000
01 Al&t] 496,400 297,300 199, 100
OBE-LIAZ T2 HEZBA
500,000, 00021 +99. 28% 496,400
03 Al&=THYl 3,600 2,700 900
OBE-LIZ T2 HEZBA
500,000, 00024 %0.72% 3,600
CH &1 CH &1 2 500,000 300,000 200,000
401 AIZHIL 2O 500,000 300,000 200,000
01 Al 496,400 297,300 199, 100
OUHAHAIRF 2 HEZBA
500,000, 00021 %99 28% 496,400
03 Al&=CH| 3,600 2,700 900
O~ T2 TR A
500,000, 00024 %0.72% 3,600
el 600,000 300,000 300,000
401 AIZHILLCH] 600,000 300,000 300,000
01 Al 595,680 297,300 298,380
OZR-Y2lI2 T2 HLZZA
600,000, 00021 %99, 28% 595,680
03 Al&=THHl 4,320 2,700 1,620
OZR-Y2l2 T2 HLZZA
600,000, 00024 %0.72% 4,320
SSIETE=E] 90,000 0 90,000
401 AIEHIL2CH] 90,000 0 90,000
01 Al 89,028 0 89,028
OBII~UEI €2 HTH
90,000, 0002 <08 .92% 89,028
03 Al&=THHI 972 0 972
OBII~UEI €2 HTH
90,000,0002!*1.08% 972
NEST 22l 301,500 301,500 0
203 PR =Y 1,500 1,500 0




SN

raFSi,

FH: QecR
Sl SXAAE (S &)
- _ _ HEE
SN SA(BA) - MEAD - BES Off &+ o4 0Ol At o8 HnE2
03 AMHZ=NHIFAYI 1,500 1,500 0
OALHH ABARFTY| 1,500
401 AlEHI LS HHI 300,000 300,000 0
01 Al&H 297,840 297,840 0
OSoXNY AZ S22l
300,000, 000& *99. 28% 297,840
03 Al&S0HHI 2,160 2,160 0
OSoNY AT S22l
300,000,000 *0.72% 2,160
wWEALSHH 2,800,000 1,700,000 1,100,000
ol=s2t 2,300,000 600,000 1,700,000
401 AIEHIZ 20U 2,300,000 600,000 1,700,000
01 Al£Hl 2,291,720 596,220 1,695,500
O0l#-222t T2&IT XA
2,300,000,000& *99.64% 2,291,720
03 AE=20HYI 8,280 3,780 4,500
O0l#-222t S2ET XA
2,300,000, 000& *0. 36% 8,280
a=== RS 500,000 1,100,000 600,000
401 AlZHIZ S OHH] 500,000 1,100,000 600,000
01 Al&HI 490,650 1,094,170 603,520
O &S 41 MILSA
500,000,000 *98. 13% 490,650
03 AE=0HYI 9,350 5,830 3,520
O &S A1 MILSA
500,000,000& *1.87% 9,350
S0EE 1,550,500 1,292,500 258,000
HE 400,000 300,000 100,000
401 AlIEHIZ 208 400,000 300,000 100,000
01 A&l 397,120 297,840 99,280
OtHEHE S0EC2 ST A
400,000, 0008 *99. 28% 397,120
03 A2 204bl 2,880 2,160 720
OtHEE SUHEEZ2 ST A
400,000,000 *0.72% 2,880
= 400,000 200,000 200,000
401 AIEHIZ R0 400,000 200,000 200,000
01 Al£HI 397,120 198,560 198,560
OsYH SUHEC2 SHITIZA
00,000,00021 <99 . 28% 397,120
03 A& = HH 2,880 1,440 1,440




S A4
M g2

Sol S0ES (==L
: 5 5 SJEL=
SNBSS - HRAY - BHES 01l & o4 o HIRZE2
— T

Os2E SHEZZ SEZFZIA

400,000, 0002 #0.72% 2,880
SHECERNEL 300,500 350,500 50,000
203 YREH| 500 500 0
03 AIBEXYREAY| 500 500 0
OSHETR SXBAAY AMARETY| 500
401 NEHIL 2] 300,000 350,000 A50,000
01 Al 297,840 347,480 149,640
OSHEET2 XTI
300,000, 000! ¥99. 28% 297,840
03 Al& =] 2,160 2,520 1360
OSHEE2 SN2/
300,000, 000! %0.72% 2,160
Rbeh & 300,000 200,000 100,000
401 Al&HI LS OHY] 300,000 200,000 100,000
01 Al 297,840 198,560 99,280
O Rehed SOHEEZ STHTA
300,000, 000! ¥99. 28% 297,840
03 Al& =] 2,160 1,440 720
O Rehed SOHEEZ STHTA
300,000, 00021 0.72% 2,160
SR 150,000 42,000 108,000
401 N &HIYL2 Y] 150,000 42,000 108,000
01 Al 148,920 41,547 107,373
OMREN SHETZ HEZBA
150,000, 0002 9. 28% 148,920
03 Al& =] 1,080 453 627
QMM SHETE HEZBA
150,000, 000! 0. 72% 1,080
JIBHAl & 750,000 1,500,000 AT750,000
HCE 150,000 0 150,000
401 NEHIL2OHY] 150,000 0 150,000
01 Al&Hl 148,650 0 148,650
OZHETZ SEZTA  150,000,0008 %99, 10% 148,650
03 Al& =0t 1,350 0 1,350
OZHEE SHEZTAL  150,000,0002 *0.90% 1,350
p[E=SIVEL 100,000 0 100,000
401 NEHIL =Y 100,000 0 100,000
01 Al&l 99,100 0 99,100
OJE-IHH2t E2 SHEHTA
100,000, 0002 <99. 10% 99,100
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SN AL D
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EHol: JIBHAl A CEERE
_ _ _ Muo
SH-EH . S2(30) - MRAY - BES Ofl & 04 Sl e HRE2
03 AIZ R0l 900 0 900
OJE-IIU £2 LB
100,000, 000& *0.90% 900
SHTANTISH 200,000 0 200,000
401 Al&HI YR OHYI 200,000 0 200,000
01 Al&H| 198,560 0 198,560
OSPINAAE 1154 HEIBA
200,000, 000& *99. 28% 198,560
03 AIZ20i4l 1,440 0 1,440
OSHINIANE NNsd SZEIA
200,000,000 *0.72% 1,440
SgRLUE= 300,000 0 300,000
401 Al&HI YL SO 300,000 0 300,000
01 Al&H| 297,840 0 297,840
O=de UES NYT2 HaTA
300,000, 0002 +09. 28% 297,840
03 Al =204l 2,160 0 2,160
SURl LSS AYEE HEBA
300,000, 0002 0. 72% 2,160
Sd=H 650,000 740,000 90,000
ESdgez 650,000 655,000 5,000
401 A &EHIL 201 650,000 655,000 A5,000
01 Al&d] 644,780 649,366 4,586
OUSiis MYER HEIBA
200,000, 000& *99. 28% 198,560
OMgllE NYER HEIBA
100,000, 000& *99. 10% 99, 100
OS=20l2 NYTR HEIBA
100,000, 000& *99. 10% 99, 100
OF=20IE NYTR HEIBA
150,000, 0002 %99, 28% 148,920
OBLYllS NYER HEIBA
100,000, 000& *99. 10% 99,100
03 AIE=20bl 5,220 5,634 A414
OUSils NYER SEIBA
200,000, 000& *0.72% 1,440
OMglle NYER HEIBA
100,000, 000& *0.90% 900
OS=20l2 NYTR LEIBA
100,000, 000& *0.90% 900
OF=20IE WY HEIBA
150,000, 0002 0. 72% 1,080
OBLYllS NYER HEIBA
100,000, 000& *0.90% 900




S A4
M S22

ol CReXRe (e @
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 04l &k 24 e HlnE2
S=2ag 132,000 110,000 22,000
= 66,000
Al 66,000
2R 2e 132,000 110,000 22,000
= 66,000
Al 66,000
WEAD 2 EFH 132,000 110,000 22,000
= 66,000
Al 66,000
401 Al EHIL 201 132,000 110,000 22,000
= 66,000
Al 66,000
01 Al&HI 131,050 109,208 21,842
OusSA DR =REFHIMY 131,050
& 66,000
Al 65,050
03 AIZ=20iHl 950 792 158
OQuUSAMITF2ZEHIAMY 950
S2ag 2,404,687 2,123,070 281,617
& 211,000
Al 2,193,687
2R 2el 2,104,687 1,953,070 151,617
& 211,000
Al 1,893,687
AEEZ2AZNE 422,000 474,000 252,000
= 211,000
Al 211,000
401 AEHIL 204 422,000 474,000 A52,000
= 211,000
Al 211,000
01 Al&HI 418,962 470,588 A51,626
ORI8Tz2 PEINEAS(99.28%) 418,962
= 211,000
Al 207,962
03 Al SR 0HY| 3,038 3,412 A374
OfIE8E2 PZINEAS(0.72%) 3,038
o CH 174,520 141,320 33,200
201 LetHY| 36,000 0 36,000
01 AtER22/Hl 36,000 0 36,000
O15& H&ZEH Xt Xz
4,000,000 «3CH+3& 36,000
206 M=l 115,520 88,520 27,000
01 M=H| 115,520 88,520 27,000
OLZNEE Gatzs +8 50,000




S A4
M S22

@2l SR (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
BN B O - HSAY - B2 Sh Of] &F o8 e
OEZMEE &= 7Y 35,000
OZZHEE 2l=0Ll 2 250& *20,0000H 5,000
OSH MEH SFU(MHAE)
1,700& %600 £ 165 S 16,320
OEZNMLE Zeff 7Y 6,000& *1,000m’ 6,000
OM&Il DSNY 7Y (SAE 2xE)
200,000 +6CH 1,200
OMAD NREYL(IHHRHE)
200,000 «10CH 2,000
405 KH&HFSHI 23,000 52,800 A29,800
01 XL SEFSHI 23,000 52,800 229,800
OEHE M&) FU(SHEZE) 14,000
OE=8 HIXE HAME 2
300,000 *307H & 9,000
T2 AL 2e 1,508, 167 1,337,750 170,417
201 Let2d] 99,237 103,820 A4,583
01 AtE22(H] 14,477 19,060 A4,583
OLBL2H (FLWA-C2- AHES +22)
400,000& x5Z X 2,000
Oget=gH| 9,477
OA&EH A= (=23HI) 3,000
02 =234l 84,760 84,760 0
O&=HE HMIIe=s 1,800,000& x12& 21,600
OMTEE FIIQTRD| (8 248
180,000& «12& 2,160
Ozs32= 2 HAl 20,000
OXNEH(RRU, HBHHLL2EH) 41,000
203 HRF&Hl 1,000 1,000 0
03 A MZ=XHRFEH| 1,000 1,000 0
OALHEYAD AMZEX 1,000
206 M=l 43,100 43,100 0
01 M=H| 43,100 43,100 0
OEZAMES+E XM (S6HE 25kg)

10,0002 # 1,000 10,000
OXNMHNE=Z E==Z X (SSCON)

18,0002 *500 & 9,000
OSL2AIE2LE KM (0IAZE 25kg)

20,0002 200 4,000
OE2AMELE XM (0tAR)

52,0002 *100= 5,200
OEZAMELE N (AUE) 6,000 x200% 1,200
OEZAMELE AHH(BEEH)

120, 0002 #3084 E 3,600

OAMZIEEE X (=22T) 4,000&*2,000m 8,000
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S A4
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& 2R X2 (ctel: &
_ _ _ Muo
SN CR(EH) - NRAY - BES 0l & 24 e HRE2
OAteI24E XN (HIOIA2) 7,000& *300m* 2,100
301 LptEaazg 4,830 4,830 0
12 JIEt2 4= 4,830 4,830 0
OQusgxA 20 243
35,0003 2371 A~ +6H 4,830
401 Al&HIZL=SOHYI 1,160,000 1,185,000 225,000
01 Al&H| 1,154,060 1,178,088 A24,028
OEzsi&elE+
10,000, 000& *20 K| =**99. 28% 198,560
Oussiizel 2+
50,000,000 *2X| +2*99. 10% 99,100
OFQIAEEZ MEES & SX2a
500,000, 000& *99. 28% 496,400
OANZE XNEZH(HERA)DA EHsSS 60,000
OANEY ng 3dEZ 50,000
OZcE2 L M AIEdES EH| 50,000
OR&N MHIIHESAL AIEZHES 200,000
03 AIE20bl 5,940 6,912 A9T2
ORI &A2ES
10,000, 000& 20 K| =*+0.72% 1,440
Ougsiiael=2= 50,000,000& 2K 5+0.90% 900
OFRIREZANEEs & K2
500,000, 000& *0.72% 3,600
405 KHoHESHI 200,000 0 200,000
01 T =S HSHI 200,000 0 200,000
OE2E4+E =240 M=
200,000,000 = 1CH 200,000
SEaze 300,000 170,000 130,000
E R 200,000 70,000 130,000
305 thal=s 200,000 70,000 130,000
01 a3 S 200,000 70,000 130,000
ORY0IS3 A28AH =, S 200,000
0=EX2a 100,000 100,000 0
401 Al&HI LR OHYI 100,000 100,000 0
01 Al&H| 100,000 100,000 0
ODIZEEXN (MR HAZZ)B 4 100,000
ot ZHl 8,329,000 12,217,863 A 3,888,863
= 5,436,000
L= 1,411,000
Al 1,482,000
ot& el 290,000 224,100 65,900
& 44,000




HAA
otd &
ot& 22| (cel: &
S .- 2.2 (3 HEAS . A2 A} OH HEE Hl =2+
246,000
A0HE = X2t 202,000 102, 100 99,900
201 et 2,000 2,100 A100
01 AtS 22l 2,000 2,100 A100
Odtd == HMHE FHILX 1,500
OJISH BH 2208 2 500
401 AlEHIL 20| 200,000 100,000 100,000
01 Al&HI 198,200 99,280 98,920
Oxotd KX 2elAS 100,000, 000% *99. 1% 99,100
Oxold St=EELEALS 100,000, 000& *99. 1% 99,100
03 Al&Z=R0HHl 1,800 720 1,080
Oxctd KX 2elAS 100,000, 000& *0.90% 900
A0HE StEEE ALY 100,000, 000& *.90% 900
JIE M= X2 88,000 122,000 234,000
< 44,000
Al 44,000
101 el ] 26,688 26,688 0
= 13,344
Al 13,344
04 JIZtMIZ2XsSE=+ 26,688 26,688 0
Oot& MY SANES> SHOIL 8,532
== 4,266
Al 4,266
Oot& MY FANES> BS0IL 8,148
== 4,074
Al 4,074
OotENY RXNEx AUE (LA, ZXH) oA
sgol2ol 5,120
< 2,560
Al 2,560
Oot&MY SXNES AUWA(A , XA )Gt
2s08Y 4.888
< 2,444
Al 2,444
401 Al&HI L 2CHYI 61,312 81,212 19,900
== 30,656
Al 30,656
01 Al&HI 61,312 81,212 219,900
OdtE MY SAE=AY 61,312
< 30,656
Al 30,656
St = XHoH ol 2 8,039,000 11,993,763 A3,954,763
= 5,436,000
< 1,367,000
Al 1,236,000




A AL
g otd &l
Gt

2l St THol ol & (etel: =3
_ _ _ Muo
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
Aot & & 2,572,000 2,435,429 136,571
= 1,336,000
Al 1,236,000
401 Al&HI LS OHYI 2,572,000 2,435,429 136,571
= 1,336,000
Al 1,236,000
01 Al&H| 2,564,181 2,426,661 137,520
O2aotd ZHIALY 2,172,000,000& *99.64% 2,164,181
= 1,336,000
Al 828, 181
OAGHe FHIAZ('10 AlHI 0IRE=2) 400,000
03 Al R04Hl 7,819 8,768 A949
O4otd ZHIAMY 7,819
SaE==PNP/ sl 2,400,000 3,608,667 A 1,208,667
= 1,800,000
S 600,000
401 A EHIL 201 2,400,000 3,608,667 A 1,208,667
= 1,800,000
< 600,000
01 Al£Hl 2,400,000 3,599,496 A 1,199,496
O=oll &S XIH& AL 2,400,000
= 1,800,000
= 600,000
ot EH 3,067,000 5,949,667 N2,882,667
= 2,300,000
S 767,000
401 Al HI YL SO 3,067,000 5,949,667 N2,882,667
= 2,300,000
< 767,000
01 Al£Hl 3,067,000 5,931,669 A2,864,669
Oot=E&E A 3,067,000
= 2,300,000
= 767,000
NP = 7,045,545 6,948,033 97,512
KIS0 A 2t el 7,045,545 6,948,033 97,512
A EF0I=RALY 2 7,045,545 6,948,033 97,512
401 A EHIL 201 5,108,545 4,959,033 149,512
01 Al£HI 5,058,142 4,922,122 136,020
o228 183,002
EMIYZEH 30,000,000 x98.92% 29,676
ot 20,000,000& *98.92% 19,784
T AFESHLER
15,000,000 *98.92% 14,838




A AL
M RSoHY
Chel s XSO A 2 2e|

SN CR(EH) - NRAY - BES 0 & 24 e
03l &F o
AJI0rSet2 E| 35,000,000 *98.92% 34,622
stal0rs et E| 35,000,000 *98.92% 34,622
JtetorsS ot i & 35,000,000& *98.92% 34,622
=EHO S22 EH 15,000,000& *98.92% 14,838
O=&d 143,434
AEZIEYHLEX 15,000,000 +98.92% 14,838
Egord OtA2EE 20,000,000 *98.92% 19,784
LH 21t H H| 30,000,000 *98.92% 29,676
LHS0t=2 waEa Xl 30,000,000 *98.92% 29,676
Xl 2= EFH 20,000,000& *98.92% 19,784
S3MUYZFZH| 30,000,000& *98.92% 29,676
O=XdH 128,596
FUEHSE BAANE £X
80,000,000 *98.92% 79,136
=02 MY2EHHl 20,000,000 «98.92% 19,784
Z20tE etZEH| 30,000,000& *98.92% 29,676
OssH 128,596
28 St=7&Hl 15,000, 000& *98.92% 14,838
2/ AHE St & H| 10,000,000 *98.92% 9,892
EX etz ZH| 20,000,000& *98.92% 19,784
X oA A 10,000, 000& *98.92% 9,892
Ao R - HI 20,000,000& +98.92% 19,784
&1J1 FZ FHI 10,000, 000& *98.92% 9,892
SEXlgl2 =8 23|
45,000,000 *98.92% 44,514
OF4dH 93,976
& THEZ I A 23,000,000 *98.92% 22,752
ZE ofd =0 HHl 10,000,000 *98.92% 9,892
2= =2 &4 10,000,000 *98.92% 9,892
IE MNYZ IH 16,000, 000& *98.92% 15,828
A X0ts erZ Ehl 36,000,000& *98.92% 35,612
o3xH 78,147
USstH==Z 2 At 20,000,000 *98.92% 19,784
a4l orZ R 20,000,000 *98.92% 19,784
SAE MY EE
29,000,000& *98.92% 28,687
O =0t I & 10,000,000 *98.92% 9,892
Ozs 187,948
S22 E 20,000,000& +98.92% 19,784
t)s22E 19,784
Z=2Fd| 20,000,000& *98.92% 19,784
2rakor 2 A | 20,000,000 *98.92% 19,784
SESZEH 20,000,000 *98.92% 19,784
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M RSoHY
Chel s XSO A 2 2e|

S HE - S(EH) - NRAY - BES 01l &k o S
0f 4 o
ME EZMHs2EE 20,000,000 *98.92% 19,784
ArE2 Zt=2Z2 & Y| 10,000,000 *98.92% 9,892
o oA FHH| 40,000, 0002 *98.92% 39,568
Or= ot J| 20,000,000& *98.92% 19,784
O 168, 164
WEIIE S A 50,000,000 *98.92% 49,460
FHS 27 UeldSEHE3A
35,000,000 *98.92% 34,622
202 Aot EHISA
30,000,000& *98.92% 29,676
SH0tE SSEFLDEZEEAM
15,000,000 *98.92% 14,838
2202 ==HSA
10,000,000 +98.92% 9,892
S0t2 LGt EHIS A
30,000,000 *98.92% 29,676
OAtD 168, 165
A2 THEH 20,000,000& %98.92% 19,784
UM ASIAEZEY|
15,000,000 *98.92% 14,838
ER 8,000,000 *98.92% 7,914
2EFZEEE 13,000, 000& *98.92% 12,860
SL =2 EH 30,000,000& *98.92% 29,676
&2 F 30,000,000 *98.92% 29,676
otz ot=7ZH|
10,000, 000& *98.92% 9,892
K2 ML= FHI
15,000, 000& *98.92% 14,838
e o+dot=-&Hl 29,000,000& *98.92% 28,687
odentH 168, 165
LH0ISeHEEE 25,000,000 *98.92% 24,730
ZototZ | 20,000,000 *98.92% 19,784
HIZ0t=etZ &l 30,000,000& *98.92% 29,676
MNIY==0HEZE 15,000,000& *98.92% 14,838
AP SOt E 22,000,000 *98.92% 21,763
DEMAZFH| 25,000,000 *98.92% 24,730
=E39ot2 F| 25,000,000 *98.92% 24,730
AU I E 8,000, 000& *98.92% 7,914
(@F=Pui! 143,437
HE Y2 EHHI 33,000,000 *98.92% 32,644
A5 HAptot==&Hd|l 20,000,000& *98.92% 19,784
28 2 24,000,000& *98.92% 23,741
4 ot EE 6,000, 000 *98.92% 5,936
Otal ot I 6,000, 000& x98.92% 5,036
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SA B HRA(SH) - MRAY - B Abod Sl e
SEXZIMEE 10,000,000 *98.92% 9,892
S A =2 & H| 26,000,000 *98.92% 25,720
JHal et J I 10,000, 000& *98.92% 9,892
dgot+=E&H| 10,000,000& *98.92% 9,892
OutsH 128,596
&S ot EH| 25,000,000 *98.92% 24,730
Mt EH| 25,000,000 *98.92% 24,730
SEZEH 25,000,000 *98.92% 24,730
Ssti=2 34 20,000,000& *98.92% 19,784
CHaforZ EH 20,000,000& *98.92% 19,784
STt E | 15,000, 000& *98.92% 14,838
Oo|eHH 153,327
dE SZ22E 30,000,000 *98.92% 29,676
2J| dYZ2FH| 20,000,000& *98.92% 19,784
HZ2 s22% 12,000,000 *98.92% 11,871
He 2SS 10,000,000 *98.92% 9,892
St =22% 25,000,000& +98.92% 24,730
dE sZ22E 20,000,000& *98.92% 19,784
HzZotd B2 3 At 10,000,000& *98.92% 9,892
Mas 2otd WML
28,000, 000& *98.92% 27,698
ogrgs 168, 164
s 2 FHI 20,000,000& *98.92% 19,784
ot etz &l 30,000,000 *98.92% 29,676
AE HZFHI 20,000,000 *98.92% 19,784
A et FHI 40,000,000 *98.92% 39,568
A0 2 ot A H| 40,000,000 *98.92% 39,568
AAHOHS 5l 2 =HE
10,000,000 *98.92% 9,892
S5 2 EH| 10,000, 000& *98.92% 9,892
ootgs 108,812
o= dYZ ZA
10,000, 000& *98.92% 9,892
AR Y2 OtAZ ZEHSA
50,000,000 *98.92% 49,460
20K otz HHISAH 10,000,000 *98.92% 9,892
2 2 € E2XH
0,000, 000& *98.92% 39,568
O4tLH A 217,624
SI=sZEEIAM 25,000,000& *98.92% 24,730
SEot=7 &l 25,000,000& +98.92% 24,730
A2 L IZA 20,000,000& *98.92% 19,784
getat=E 3| 60,000,000& *98.92% 59,352
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20,000,000& *98.92%
20,000,000& *98.92%

10,000,000 *98.92%
30,000,000& *98.92%
30,000,000& *98.92%

30,000, 000& *98.92%

30,000,000 *98.92%
30,000,000 *98.92%
15,000,000 *98.92%
40,000,000 *98.92%
15,000, 000& *98.92%
10,000, 000& *98.92%
30,000,000 *98.92%
20,000,000& *98.92%

20,000,000 *98.92%
50,000, 000& *98.92%

30,000,000 *98.92%
10,000, 000& *98.92%
40,000,000& *98.92%
20,000,000 *98.92%

10,000,000 *98.92%

30,000,000 *98.92%
30,000,000& *98.92%
20,000,000& *98.92%

19,784
19,784

49,460
148,560
49,460

99,100
69,244

9,892
29,676
29,676

113,758

19,784

19,784

44,514

29,676
187,948
29,676
29,676
14,838
39,568
14,838

9,892
29,676
19,784
168, 164
19,784
49,460

29,676
9,892
39,568
19,784
187,948
9,892

29,676
29,676
19,784
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2N SDOXY StaEe
20,000,000& *98.92% 19,784
TN ZXA GaFL
10,000,000 *98.92% 9,892
Okss 209,711
St =2 F 20,000,000& *98.92% 19,784
15 Y= 20,000, 0002 <98 92% 19,784
ot Xl &M= & 32,000,000& *98.92% 31,655
2= otz 3l 15,000,000 +98.92% 14,838
ES1E 2 EH| 15,000,000 *98.92% 14,838
S OISHSAIEF
15,000, 000& *98.92% 14,838
SZX JYZ2FHI 30,000,000& +98.92% 29,676
398 ot+=E&Hl 20,000,000 *98.92% 19,784
148 84===23H|l 45,000,000& +98.92% 44,514
o=3 1,591,656
SE~HE2 DYIHA
400,000,000 *98. 13% 392,520
ARZAE SR22Y
120,000, 000& *99. 28% 119,136
2A2AE EXEAH 30,000
AT 20121 (POOL) At 400,000
FOHAST(SHS) 650,000
OFQBASINL(EES) 13,000
LANS2EE 13,000
03 AIZR0i4l 50,403
OSHS ARBFo=RAA 42,059
O=E ARDALRX 22| 8,344
M~ &2r Wit
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ARDAERT Z2I|
120,000, 000& *0.72% 864
402 QI XHE01H 1,937,000
01 BIZPGEEX 1,937,000
o228 85,000
Zolte BSH NS 30,000
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Zultseld N2+ 10,000
HdERZE S 15,000
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4012 10,496, 640! / 128 *400% 3,499
ek L] 120,000% 122 1,440
B oA Z AL 130,000% 122 1,560
NEIEELEE
5,38281* 151 24+ 1. 564 * 122 1,454
I EE (&, 5 4) 874, 72094 *120% 1,050
o1 At 43,0502 202 861
EELIEER) 30,900 22,980 7,920
2 (AL D) 30,900 22,980 7,920
201 L2 8.700 4,500 4,200
01 AtR2:2lt] 7,200 3,000 4,200
SERI 2,000
OZaZE m=H| 700, 0002 +62 4,200
OS2I+ (T2R2INS BHLY)
100,000 102 *13] 1,000
02 BZEH| 1,500 1,500 0
SI=1=2t 1,500
202 Ot 18,000 18,480 £480
01 2hoit] 18,000 18,480 480
o=uoitl 18,000
203 HREAY] 4,200 0 4,200
M EASYAREY 4,200 0 4,200
ORASYLR=Y) 350, 0002 + 12 4,200

_17_




